Chapter 2 Review Worksheet Name: Y/ E \f

A.) Tell whether the relation is a function. B.) If it is a function, identify its domain and range. If itis nota
function explain why it is not.

1.) Input  Output 2) Input  Output 3) Input  Output 4) Input  Output
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Tell whether the lines are parallel, perpendicular, or neither. You must have work to back your answer.
5.) Line 1: through (5, —4) and (-4, 2) 6.) Line 1: through (0, —4) and (-2, 2)
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Graph the equation using any method. Make it clear how you graphed the equation (show your x/y chart,
identify your slope/y-intercept, or identify your x/y intercepts).
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10) -3y +12=0 11.) -8 = 2x 12.)3x + 4y = —8
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Write an equation in slope-intercept form AND standard form that passes through the given point anfl
satisfies the given criteria, or that passes through the given points. Use integer values for A, B, and Cin

standard form.

13) (3,6),m = -

Y- = -5x-3)
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Identify the functions vertex and whether it opens up or down. Then use the table to graph the function.
Compare the graph with the graph of y = |x|.

18) y=3Ix+1]-2
vertex: k“\l ‘7_)
opens: \)Y
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Graph the inequality in a coordinate plane.
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Chapter 2 Review Worksheet Name: LE\{

A delivery service cha.rges a base price for an overnight delivery of a package plus an extra charge for each
pound the package weighs. A customer is billed $22.85 for shipping a 3-pound package and $40 for shipping a
10-pound package. o

1. Identify what you have been given (1 point, 2 points, slope, y-int.). List them below.

Z pants: (3,22.8%) (10,40)
. Write an equation in slope-intercept form that gives the total cost of shipping a package as a
function of the weight of the package. -4y 724 Sk %= \0

M= —o-3 -~ 71 -
:'Z_'-}'f)y-\'\ra-'jo

I

(S

. Find the cost of shipping a 15-pound package.

Y= 2.45019) +15.50

y=[*52.25 |

For a school band fundraiser, students are selling seat cushions for $4 each and licenses plate holders
for $6 each. One student raises $304.

4. Write an equation in standard form of the line that models the possible combinations of seat cushions and
license plate holders that the student sold. (= ¥ of cushion )

FET\UV - 304 p= ™ol plalt noldurs

. If the student sold 39 seat cushions, how many license plWldL
4019) v op = 504 -123 ploR Y\M(qu
wp-22% ¥ |38 ¥ >

. Write an equation of a line in slope-intercept form that is perpendicular to 2x + 7y = 14
and passes through (=4, -1). ~ —I\j

MR AVER) =B g
grl= g i R

. Identify the domain and range of the graph.
Does the graph represent a function? Explain how you know.
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8. Without graphing, compare the graph of y = —- Ix + 9] = 5 to the graph of y = |x].

| shift down 5

\E7 ikt et 9
7N shnnie ‘
7Ceeenon OVer X-&KIS

A cable company charges $44 per month for basic service. Each premium channel costs an additional $16 per
month.

9. Write an equation in slope-intercept form that gives the total cost (in dollars) of cable each month as a
function of the number of premium channels purchased.

|y 1ox 5|

10. Identify the dependent and independent variables in this situation.

dupendunt: the OSF 0F (apie SN
WAPRNAUNE: HL F OF pramium chanhels purnastd pur

11. Find the cost of cable service for a month in which you purchase 4 premium channels. m 0 nfh .

\5-.\\0\4)*%

During the period 1990-2004, the annual sales of a small company increased by the same amount each year. In
1997, the annual sales were $97,000. By 2002, sales had increased to $147,000.

(1,97,000) Lcanaua\” 000

12. Write a linear equation in slope- mterccgt form that models t sales as a function of the number of

years since 1990. m = ‘il-(m‘%_-q—nl&o : S-E‘gb)‘ - 10,000
y - 47,000 = 10,000 (x-1)
13. Use the model loopr(edicl the sales in 2016. ‘5 -477,000 \O Vo0 X - 770 i
\5—,\0,00 \W)+ 727,000 - \0,000X + 27,
Y= 31%17,000 J

A BMX race track charges a one time membership fee and an entrance fee per race. One racer paid a total of
$76 after 3 races. Another racer paid a total of $124 after 7 races.

3,0 )

14. Write an equation in slope-intercept form th'll gives the total cost, C as a function of the number or races

entered, r. YA i 1" 2 -To = \U\x - 5)
m--+=—=: - \L Y-
-3 y-To= X" 4%

\Z’;T?j

15. What is the entry fee per race?
‘_ T ‘
16. How much does the track membership cost?
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Chapter 3 Review Worksheet #1 (Skills) Name: LE\’

Solve the linear system by graphing (show me how you graphed). Remember, you must check your solution
algebraically. Then classify the system as consistent and independent, consistent and dependent, or inconsistent.

E 1
1) —xasy=15 AN 2y gy, o5 3YITD 5y oy g gr T MY \(}; l
y=1x—5 3 “7)‘13 y—-x+ e 37‘*“” —-20x — 4y = —4 3
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solution: N“ 80 LUT\ON solution: k'_\ N \) solution: \N‘:\N\‘ \LL\! \J\AN\{

classify: N kQN S\ ST:F NT classify: (“NS \ ST F N-\- classify: QQN S\STL NT
\NDEPENDENT VEVENVIN T

Solve the linear system using substitution.

4) 8x+2y=2 5) 7x=3y=6 7
x+3y=14 7 A~ ‘““33 \ —2x+5y= —10 7 == ‘\Utbﬁ
: x=14-3(9) » \ x o otEy
5+2.5 3= X =545
W2 - 24y x2y=1 Rt L ot ;
55*\"53‘ 53 =\ (?E‘;Q’:
35“\‘—\.5\5 -\

\4 -‘)\j =29
(07{
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Solve the linear system using elimination.

6.) 3x =8y
3 2x+'§y——2)
L(3>< -8y =0)

~)?$\1 \5\3‘-‘\0
%
x-\oy =0
- :—V] 3)*"‘6\‘0\

(4=%)  3x=1%
S (\\o‘\o\\ )

7. 5‘\'\417 - 10y = 18)

_'Z&Jr%; —f;sz

0+ 21

ho_ sovomon)

Graph the system of inequalities. N\%\\{&
8.) y >{& (_,\\ld T N ). T - 9.) 4x “|"4y‘g 4‘\(¢% ": _“L - — 1‘
2x~y>(l1 E:-— 3 ji]:Lf (# -2x+2y > -4 s i a#_i === _ﬂﬂ
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wontd
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2% (rn)
SO
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Solve the linear system using any algebraic method.

ll?‘}(Sx—Zy+z= —6)

BT Ssweyecz -2eoy=-D)
Ix-y+4z =13 R X 45 - -1 S - -\S
e\ ;{ q 19X - t—\55 @EE
e T0x =\5Z - 5
-% t3q -7 3 = -\5 [’Z—)+j('3)_zz )
V5% ‘\(j = -17 Z“q"g;:‘:?
-2x + oy -47=-30 =Y
¥ 6)( _\1\51_ 2_1\3 o @
X +5\j = -\ solution:\ L—Z.-?).L})
-~ }
12.) 10x + 2y = 2z=12
2x+2y+2z=4 \Z)H‘-\\j: \V
3x+y=+4 _ 5%* = Y
A b\S\ \ﬂ -.}\\o
N AR W ]
e R 0=0
\2 X -t"‘\\i - \\6—-
solulion:- \FNY \ N \ ] L l_\l
13.)(x+y-z=7 ) ( ) HP\N\‘ SQLUT]ONS
U2c-3y+2=2) 7 (3x-17y = B s
4x +2y - 22 =20 . “bx*\\j —,Gllkj 3-29=9  5v0-¢1 -]
W 2 ~yx Ay = ~\3 ‘1-7.3'-‘1 = =]
T Al x -2y-0 £ =Y
vl o 0 G
x-2y =9 A= )
1y g o
& Li)(-rz\:j_ '2' :—2'0 solulion:t ?.)50=—[}\}J
BA-4Y =24 |- -
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Chapter 3 Review Worksheet #2 (Word Problems) name: V—E\f

1.) You purchase a gym for $115,000. The estimated monthly revenue is $5,500 and expected monthly costs
are $3,200. o T

a.) Let R represent the revenue during the first r months of operation. Write a linear model for R.

= 9,900t it 110,000

46 [220,000

b.) Let C represent the costs during the first 7 months of operation, including the purchase price.

Write a lincar model for C. £t C
0
[C= 5,200 + 115,000 | w’ 179,00
G - ' 10[ 243,000
c.) Graph the revenue and cost linear models on the same coordinate plane. Be sure to check vour

solution.  550Q(50) = 715,000 v/

- 0 ¥ ] 1T L
5“( 0“ \50) ¥ \‘5l 000 7'—,5'00 300‘00‘0 ool ol il 4 [ [T ,,,,—é
250,000 |— = S ‘f-
£ 200,000 |- {—|—— B .
d.) How many months will it take until S 150,000 |-- e ol I et N O I L O
revenue and costs are equal? e 100,000 i 74’{ B T N I
' L~
50,000 |-~ T
50 months, " . I 4
0 5 101520253035404550557r
'9 11 5 IQ 00 rt\J( Time (months)
__—-—__—___—_

Y ——

2.) A math test is to have 20 total questions. The test format uses multiple choice questions worth 4 points

;zcilgisand problem solving questions that are worth 6 points each. The test is worth a total of 100

a.) Write a system of equations to determine how many of each type of question is used. Be sure to

define your variables. . =
c;n_- i\:\ou;erﬁr\%b\H?\[ onoice X X \5 -0
= 0WY) -10
Y= B oF proylem sOWVlY g_‘jx Ty = 0
b.) Solve your system by graphing. Set your x- and - Z 39 T T '
axis to go by two. Be sure to check your solution. a 2% l 11 L i
X1y =20 Ux "t\D\J:\DO c ! e
e (20,0)  xANE 9,0 Swiir
y-int (0,20) Y-t (0,077 Wik <
¢.) How many of each type of question were on the test? i i ]
10+ 10 = 20 T00) + 6 (10)=100 5 s T
10=10v 404190 =100 o o S ]
\00 =100 v <1 ;

~y
-2
<N
[=1

07 34y bi0 10 2

\0 mulfipit Choia, % of uwpie
\O yropiem SoWNing oo\
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3.) A hair salon reccives a shipment of 84 bottles of hair conditioner to use and sell to customers. The
Iwo types of conditioners received are type A, which is used for regular hair, and type B, which

is used for frizzy hair. Type A costs $6.50 per bottle and type B costs $8.25 per bottle. The hair

salon’s invoice for the conditioner is $588.

Se.t up and solve a system of equations to find how many of each type of conditioner are in the
shipment. Remember to define your variables.

A= of Type A porigs Xty = g4

W= oF Type 8 porfles  wSx + 3.25y = 53¥

Xy =34

484 05K+ 8.25( 69 -x) =583
2y - 0-9% + VI3 -%.25x = 5%3

W =RTTO0 T e s 105

CED =D

4.) In order to connect your Blueray player to your TV set, you need a cable with a special adapter at both
ends. An 8 foot cable costs $24.50 and a 4 foot cable costs $15.50. The total cost is the sum of the
cost of the adapters and the cost of the cable itself.

\¢S
0 TRt A ot

Set up and solve a system of equations to find the per foot cost of the cable and the fixed cost of the
special adapters. Remember to define your variables.

%= oSt plr £00% 7450~ Bx » ‘
\5: COSy ?Y'UT O-d& ‘HVS vH.50 = “hﬁdﬂ 5 _\\\55() : ‘—\xﬂﬁ)

, -19.90 = YXx-
$71o yer Fr (08 19502 EMY Ty < g
5 50 GQRVRY (05T

CHED, 4 = 4%
What would you expect to pay for a 6 foot cable? p— :% EE:DJ
(=725 +.50  C=2.2500+0.50  (-|vzo)

5.) The cost of 11 gallons of regular gasoline and 16 gallons of premium gasoline is $58.55. Premium costs
$0.20 more per gallon than regular. What is the cost of a gallon of regular and premium gasoline?

X = (051 of Lgallen (veguiar) WA T WY = 59
Y= cost of 1 gaien (premivm) g % 0.L0

WK A0 (¥ 0L) 000
AP + \o¥X “52 - 5%-‘\4;‘

2% 5598

S )
- 27051 0.20
CR>
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6.) Youand a group of friends went to the Brewer’s game. During the 3 inning, you made a run to the
concession stands to buy food for everybody. You bought 5 cheeseburgers and 3 hot dogs for
$29.25. When you get back to your seat you’re trying to figure out what everybody owes, but cannot

remember the price of a cheeseburger or hot dog. You do remember that the cheeseburger cost twice
as_;llg;_h_&h‘.*_lif)_tci_gg. What is the cost of a hamburger? a hot dog?

X~ C0S ofcmmbuvg{r Ox + 29 - 2925 5(24) *3\3‘2(1'25
B purgey C0SHS 3450

— Pron <= 2(125
& ot dog (0§t #2.25 x/ﬂil%) 5 -
| : x= 150 /\i/\j'@

7.) For an upcoming concert, a 2500 seat arena is selling tickets for $25 and $15. At least 1000 tickets must
be priced at $15 and total sales need to exceed $10,000 to make a profi t. Let x represent the number
of tickets priced at $25 and y represent the number of tickets priced at $15. Write a system of
inequalities that shows the possible combinations of ticket sales in order to make a profit.

-8 oF 325 1 OAES 50
. X+ \ ¢2o0 )
-4 of $15 t1
z1000
X z0
I
8.) The feed mill pays a farmer $6930.00 for the 1st delivery, $5475.00 for the 2nd delivery, and $8879.50

for the 3rd delivery. The table shows the number of bushels included in each delivery. Use the
table to write and solve a system of equations to fi nd the price per bushel that the farmer received

for each crop.

X = ‘$/bUShU of m | 900 540 360 |

= 3’ b\]bh('\ 0{: \”he(u 2nd Delivery | 1125 150 225
é’_ 5 V\)Shu 0{ Su\jbewb 3rd Dc!i_\_feryﬁ 260 045 645 _—J

$7.20/pyshne] ot (0N, | 400x + 5“\0&5 + 3900z = \o%.() =7 = L% 15y 9.2
§3.50/ busng) of WAL\ 75X + \904 + 1152 * 9415
s/poshe) of soYPBNS| o\ ax + 4oy + 45T ° $879.90

25X +\50\j + 2_25(-25)( -\.59 -”q_zs): 54715 509X -%Y? f)tj = |143-15
- 117,50 - 5z Sx HI3)S
WZOX ﬂs()\j -502.9% =335y + 4331 .25= 5415 \ quhft X ‘

?pfzr;?}}\m's = 14375 -192.5x '52_2.5‘\3)‘ -.1) - 3536/
300X + 045y + 045(-2.5% 1.5y 119.25) = §879.50  A52.5x-qu1.5x + 197115 < 59
00X + 045y - 125 -9u1.9y + 1241029 = §379.50 -\110% = -550

~192.9% ~322.94 > ~ 39 9.15

2--2.5(30-1.5(3.9)+19.85 4=3(32) b

M [ B [ B g A | o O L e
i [Corn;|{Wheat:|“Soybeans

R T TR

Scanned by CamScanner



9.) The movie theater charges different rates for attendees depending on their age; children 12 and under
are $4, adults are $6 and senior citizens over 65 are $5. A group of 14 people from a family decides
lo g to the movies one weekend. There are an equal number of senior citizens as children 12 and
under. The total cost was $66. Let x represent the number of children 12 and under. Let y represent
the number of adults. Let z represent the number of senior citizens.

Write and solve a system of linear equations in three variables to find the number of people in each
age category in the group.

X=4 of Lds itk gzt
y:® ook adwlt ficus tx 1oy + D2 =l
-4 ob SONOr Fickaxs X =
)(+31-)(-\"|’ LT)(T\D%#E)X:LUW

xy PG
b (zx vy =) ORI TR

Ll NOREs
7 gl ks

@ SEni0Y A1OKES 9x tY ‘Flola 5410y - b
-\Ix -Hu = - 34
-3x = -\% i

10.) A cashier has 25 coins consisting of nickels, dimes, and quarters with a value of $4.90. If the number
of dimes is 1 less than twice the number of nickels, how many of each type of coin does she have?

X =% of mawls + #-25
W= 8 ok dimes A ‘\j* |
7= W of QUartiS s

0.05x + (}.\0\5 r 0252 = 1.90
Xt (2x-1)Y 2 =25

2xt2 =24
0.05% +0N0(Zx-) ¥0.252 <190
0.09% + Q.1x- 0.1 *+0.152-490

0.00X+ 0258 =9
2(3)tt =20

-0.25 (3x+2=10) 4+2-20
. 0.29% +0.2%% =5 &)

-0.1% -0.292~-65 = 203) )
-0.9X = =) b
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Review Lessons 4.1-4.5 Worksheet Name: Y— E \{

Graph the function by completing the table. Identify the graph’s axis of symmetry, vertex, whether the
Sraph'opens up or down, and its maximum/minimum value. Then compare the graph with the graph of
ya %

g I
| 3 T !
I e e S

_.‘%_;5‘— 5500 U O 0 =

x |-2]-1]0 V]2 < [-q4]-2] 0]z [ 4]
y [J1]215]12,1 y |52 [Vv[2]5
comparison 10 y = x: ‘ comparisontoy = x%:
- bR 0N Ot X-0XiS SO snnnk

- U stretth =Sty upa
-shitt up 5

Identify the graph’s axis of symmetry, vertex, y-intercept, whether the graph opens up or down, and its
maximum/minimum value. Then graph the function by completing the table.

3) y=—xt—4x -4 BEANNEN AURNS 4) y=3x*-18x +15 LN
!A.T'.[i R B L _ 5 11 5
sos: Y= =L ] f J} T Aos: K= 3 i
=11 1t e ) b : :
=11 P At l 'I _ +br
vencx:g'z, OI [J};is‘g ':;+i~,-[r—L vertcx:‘3 \B ; :T;
SN mRESEaES vauy o
it N i i _1009) P HIR I
bogt- | Y IO O . 9 e 8 ER i 7410
1 o | , i; 1IN 1
. - TN ens: - ! I
‘ gL \J's".'.i ] opens UV AT

maxalu@i _%;\1 y-axis by 2
x VT3S
y 101791 1]0

*_ " work: ) ~(-1% )
,—(—-5'-)—'-‘?1--2 X—"{G%’%’-B
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S)y=-1(x+2)*+1
AOS: X = -1

vertex: \'Z! \ ! %

4 ] 6)y= (Jr+4)2
FEHH aos X= -t
}':[ + vertex: Q‘Lf 0)

|
y-int __&_Ol_(n » e A
3T .
opens: (A QW) TP opens: NP
@min. value: _kﬂ_"- | max.@va]ue: __\ﬁ - “
v e[a]-1]0 ]2 ANEEIE
Yy 1731011

work: work:

P ! K HEEEEN
R \ | i i \
S (A ._*_4_4_*_._ i ’
; H ! 1] [ 1 1 1

-

o
|
N
b
L
o
Ny

7} ¥ = [on == 7)) -
AOS: X~=9O
vertex: b,:i) -4 vertex: _LrD -1 5)
y-int: _LQA_I)_ : l } r | M y-int: ﬂ (I '%J_
o ST e

+—

TTT

aos: h=1.5

P

T —

1 4 ot

I T T S N T T
I ] il |

Vot b} v

s —t o

yS)f(x)-Z(x—4)(x+1) 1 rr

x[3][4]5 0[] B .
y 10[-3]-%13]0 y 10 ]-9[129-%

X’__y;t__ixl_ L5 | >§__q»r—|__r3*_~|5
x-int (3:0)  (7,0) x-1N¥: (4,0) (-1,0)

Factor the expression completely, if possible.
9) x2—4x+4 /q\ 10) t2 =11t - 26 -2% ll)b2—400 AFRINCe of
s =4 A% W ey HVs VR

l (x-D)(x-2) ] )Lt—\aw(t*-’c)[ Lo+ (p- LJ
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12) 42 +8t+3  43=\1

N n l4)6x*+x—-15 p.-15~ -90
H‘t‘ﬂotttzvrj b+2-% /'r\

%
> | = -9 %10
oot pe | - . _
74 (Tt +3) + 1 (24 13) PR L \ ox "+ 10x |-9x -15

Tt | 2x (3 r9) -3 (5% +5)

Xt -3) |
Solve the equation using factoring. %V U{%(U’ Swuxl \‘ L?) C‘h (zx
N0
8046, 25 —80x+64 0

13) 3r*+9r—4 3.-4=<-

15) 862 +38t—10=0 4--5°=

~ 17) r2 +2r = 80 -%0
Z(H 13 -5) =0 w1 00 ey @ (“r2r-3070 (o2
HEA 5 =D (5%-8)"=0 (1) (r-8) -0
L&t(tfsw-\t‘%*'%to V5x-8) = V0 (410=0  y-§-0
(L= g0 =10 ra
(1950 4t-1=0 B)g@ U‘—* -\( ¥
Find th f the quadratic functi ()“&E(YU\\}% >
e zeros o e quaara ll% unction, Bk S(\
18) y=x2—=8x+16 -uway=-%3 19) f(x)=—16n2+ 12n 20) y = 16x2 — 1
0=x*-3x 410 0= -\eni+iln 0=\ox -l
0= (x-4" 0= -4nlin-3) Q‘k%x*h“h(’\)
—_\/&?{)‘L -4n=0 4N-3=0 4x £\ =0

o mo ] R A

Write the expression in simplest radical form.

21.) \//9€ 22.) V27 23.) V10 « V15
7N
VT4 VZ Y4 3 Vige

[1+2]

24.) 3V8 « V28
3124

E

25

b0

3 i ¢ YZ5
>4 T |2 Erﬁi}
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